
Monday Tuesday Wednesday Thursday Friday 
40 x 60 = 2400 
 
4 x 6 =24 
 
400 x 6 = 2400 
 
Calculate 24 x 100 = 
2400 
 
Calculate 240 ÷1000 = 
0.24 
 
product of 300 and 6 
1800 
What is the value of the 
2 in this number? 
254,897  200,000 
 
 
Round 64.802 to the 
nearest thousand. 
65,000 
 
 
Write 555 in Roman 
Numerals  
  DLV    
 

70 x 60 = 4200 
 
7 x 6 = 42 
 
700 x 6 = 4200 
 
Calculate 660 x 10 = 
6600 
 
Calculate 66 ÷100 = 
0.66 
 
product of 500 and 6 
3000 
What is the value of the 
8 in this number?        
254,897  800 
 
 

Round 64.802 to the 
nearest ten. 
64,800 
 
 

 
Write 554 in Roman 
Numerals  
DLIV 
 
 

60 x 60 =  3600 
 
6 x 6 = 36 
 
600 x 6 =  3600 
 
Calculate 7.2 x 10 = 
72 
 
Calculate 7.2 ÷10 = 
0.72 
 
product of 110 and 6 
660 
What is the value of the 
4 in this number?        
254,897     4000 
 
 

Round 64.802 to the 
nearest hundred. 
64,800 

 
 
 
Write 556 in Roman 
Numerals  
DLVI 
 

90 x 60 =  5400 
 
9 x 6 = 54 
 
900 x 6 = 5400 
 
Calculate 4.8 x 100 = 
480 
 
Calculate 480 ÷100 = 
4.8 
 
product of 15 and 6 
90 
What is the value of the 
5 in this number?        
254,897   50,000 
 
 

Round 64.802 to the 
nearest ten thousand. 
60,000 
 
 

 
Write 559 in Roman 
Numerals 
DLIX 
 

80 x 60 =  4800 
 
8 x 6 = 48 
 
800 x 6 = 4800 
 
Calculate 3.6 x 100 = 
360 
 
Calculate 36 ÷100 = 
0.36 
 
product of 200 and 6 
1200 
What is the value of the 
9 in this number?        
254,897      90 
 
 

Round 604.802 to the 
nearest hundred 
thousand. 
600,000 
 
Write 565 in Roman 
Numerals?  
DLXV 
 

 



Calculate the area 
 
6cm 

 
              9cm   54cm2 

 

 
Calculate 5.6 + 9.4 =

 15 

 
 
3/4  + 2/4 = 5/4 or !¼  
 
 
6/7 – 1/7 = 5/7 
 
 
 
1/6 of 36 = 6 
 
 
 
5/6 of 36 = 30 
 
 
 
 
 

Calculate the perimeter 
 
6cm 

 
              16cm        44cm 
 
 

Calculate 5.6 + 8.74 

14.34  

 
7/10 + 2/10 =  9/10 
 
 
 
7/10 – 3/10 = 4/10  
 
 
 
1/6 of 24 = 4 
 
 
 
5/6 of 24 = 20 
 
 

Calculate the area 
 
3cm 

 
              16cm      48cm2 

 
 

Calculate 11.74 + 9.4 = 

21.14 
 
1/3 + 2/3  = 3/3 or 1 
 
 
 
5/13 – 2/13 =  3/13 
 
 
 
1/6 of 42 = 7 
 
 
 
 
4/6 of 42 = 28 
 

Calculate the perimeter 
 
4cm 

 
              6cm      20cm 
 
 

Calculate 15.61 + 19.4 = 

35.01 
 
1/14 + 3/14  =  4/14 

 

7/9 – 4/9 =   3/9 

 

 

1/3 of 21 = 7 

 

 

2/3 of 21 = 14 

 
 

Calculate the area 
 
  6cm 

 
              6cm      36cm2 

 
 

Calculate 5.86 + 9.45 = 

15.31 
 
5/6 + 2/6 = 7/6 or 11/6  

 

4/6 – 1/6 = 3/6 

 

 

1/5 of 35 = 7 

 

 

4/5 0f 35 = 28 

 
  

Total            /15 Total            /15 Total            /15 Total            /15 Total            /15 
 


